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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any FIVE questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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you understand by the production

1. (a) What do
s the PPC

possibility curve (PPC)? How doe

change when

(i) the technology to produce Y improves

(ii) the technology to produce X and Y both

improves

sm? What is the effect on

nd quantity due to an
logy to produce the
(10,5)

(b) What is price mechani
equilibrium price a
improvement in the techno
commodity? Use suitable diagram.
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(a) What do you understand by price rationing?
Explain effective price floor and price ceiling and

their impact on the market outcome

(b) Find the equilibrium market price and equilibrium
market quantity for the following demand and

supply function :

Demand function : P=225-35Q

Supply function : Q=2P-10 (10,5)

(3r) oFm FEao A T wE R 7 :
e Frufor 1 9o AT o SR FgE ) 3EE
T T T 2 7

() el Wi od O B @ SER HqeT S T
Wmaﬂﬁq
HHET - P=225-5Q

W W - Q=2P - 10

o

'l o



4 D
2000

ribe consumer surplus and producer surpllus

s ilibrium price. How are the consumer Surp u‘S

2;2“‘;0(1“0“ surplus affectexﬁi when their;bllz
rightward shift in the demand line? Use su

diagrams.

i f demand
(b) Differentiate between the determinants O

i icity of demand?
and determinants of elasticity ™
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nd

i a normal
(i) Price consumption curve for

commodity and

i an inferior
(ii) Income consumption curve for

commodity.
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(b) The price of a giffen commodity, X decreases.
Using indifference curve technique explain that
the price effect is the sum of income effect

and Substitution effect. Use suitable diagram.

(8,7)
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5. (a) Explain marginal cost, average variable cost,

average fixed cost and average cost. Describe

the relationship between these. Use suitable
diagrams.

(b) Explain the relationship between total production

function and total cost function. Use suitable
diagrams.

(10,5)
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from short run cos
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rm produces chocolate (5,10)
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is of foll
on the basis ©
—vC | AFC |AVC [MC

R S
Qutput M
T
130
150
160

0
1
2
3
4 172
5
6
7
8

185

210
240
280

mﬁ'ﬁmﬁﬁﬁwmﬁm

freqen T@ i AT

' 2790 ‘g

() v wF "o @ e 21 R Mo @ sER
Prfofers i oof ARG -

;
el
|

5 B 3T
T gRafade | Rer

3RTa GRadAYe | A an
AT

100
130
150
160
172
185
210
240
280

wofan|un|alvw|v—|o

7. (a) Describe all equilibrium conditions of a firm under
perfect competition in the short run. What are the
activities in case of profits in the short run and
what are the impacts of these activities on the
equilibrium price and quantity in the competitive

market? Explain using suitable diagrams.

(b) Derive and explain long run industry supply curve
under perfect competition under the condition of

constant cost. Use suitable diagram. (10,5)
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8. Answer the following : (5.3,9)
(a) Total expenditure and elasticity of demand
(b) Properties of indifference curves

(c) Economies and diseconomies of scale
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